wf; Fct 2o/
Ao w, A+
FAY  zoos

(1) You are given the circuit of Figure 1. Find the Thevenin voltage and Thevenin resistance
seen looking into terminals a-b. Ans: Vg =166.67 V, Riy=10Q
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(2) You are given the circuit of Figure 2. Find the maximum power that can be deliver to the
resistor R. Answer: 625 mW (Along the way, Viy =2V, Rm=1.6 Q)
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'  (3) You are given the circuit of Figure 3. It is known that C,=10uF.

(a) Determine qeg, q1, and g, in steady state. Ans: 500 zC, 200 uC, 300 uC 500 uC
(b) Determine Vy in steady state. Ans: 20V

(c) Determine #,(c0). On your own

(d) Determine i(0"). Explain your answer. Ans: 10 mA
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" (4) You are given the circuit of Figure 4.
(a) Find v(t) fort=0". Ans: 6V
(b) Find v,(e0). Ans: On your own
(¢) Findi(0"). 1 mA

(d) Findi,(0") Ans: On your own
(c) Find i(ec). Ans: On your own
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